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SI. No.1
QBID:328001
Which of the following is the right description of the “Duty Free Import Authorization (DFIA)” Scheme?

1. Duty free imports of inputs required for export production subject to certain export obligations, as stipulated in the
foreign trade policy.

. Exemption in respect of custom duty, additional duty, education cess and anti-dumping or safeguard duties for inputs

used in exports.

Import of capital goods at concessional rate of duty subject to an appropriate export obligation accepted by the

porter.

4.Grant of credit on post-export basis as specified percentage of F.0.8 value of exports made in a freely convertible
currency.

2

(Option 1[33301]) 1
(Option 2 [33302]) 2
(Option 3 [33303]) 3
(Option 4 [33304]) 4
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(Option 1[33301]) 1
(Option 2 [33302]) 2
(Option 3 [33303]) 3
(Option 4 [33304]) 4
Answer Given by Candidate : 3

Sl No.2
QBID:328002
An Indian company receiving investment from outside India for issuing shares/convertible debentures/preference shares

under the FDI Scheme should report the details of the inflow to the RBI. What is the time limit for reporting these details
to RBI?

1. Within 10 days from the date of receipt
2. Within 15 days from the date of receipt
3. Within 30 days from the date of receipt
4. Within 45 days from the date of receipt

(Option 1 [33305]) 1
(Option 2 [33306]) 2
(Option 3 [33307]) 3
(Option 4 [33308]) 4

B R SO T U S o W & i S/ uiad-Ta fEaer e SR IR’ @ & R HRa & ek § Faw
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1. T A & 10 Rl & i
2. TffE 1 fafr & 15 Bl & iR
3. 7ft 1 faf 9 30 Rl & iR
4. 7% 1 o & 45 ol & iR

(Option 1[33305]) 1
(Option 2 [33306]) 2
(Option 3 [33307]) 3
(Option 4 [33308]) 4
Answer Given by Candidate : 3

SI. No.3
QBID:328003
Which one of the following theories of attitude change states that changes in opinions can result in to an attitude change?

1. Balance Theory

2. Cognitive Consistency Theory
3. Reinforcement Theory

4. Cognitive Dissonance Theory

(Option 1[33309]) 1
(Option 2 [33310]) 2
(Option 3 [33311]) 3
(Option 4 [33312]) 4

ifigfer oRada & Fraftifea 3 forw Rigia 3 7e @er a1 @ b R & uikad 3 sfigh @1 oRofa g 8 7

1. I3 o1 g

2. U - WHoRd @ st
3. Qe @1 g

4. U ST 1 Riia

(Option 1[33309]) 1
(Option 2 [33310]) 2
(Option 3 [33311]) 3
(Option 4 [33312]) 4
Answer Given by Candidate : 4

Sl No.4
QBID:328004
According to Porter's diamond, which of the following is NOT a factor of national competitive advantage?

1. Relating and supporting industry
2. Firm strategy, structure and rivalry
3. Bargaining power of buyers

4. Demand conditions

(Option 1[33313]) 1
(Option 2 [33314]) 2
(Option 3 [33315]) 3
(Option 4 [33316]) 4

TR & ERe & rguR, Fafifed A4 FH a1 g ol @ &1 oRs 78§ 2
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(Option 1(33313]) 1
(Option 2 [33314]) 2
(Option 3 [33315]) 3
(Option 4 [33316]) 4

Answer Given by Candidate : 3

Sl No.s
QBID:328005

X and Y are partners sharing profits and losses in the ratio of 3 : 2. They admit Z as a new partner with 1/5 share in the
profits. Calculate the new profit sharing ratio of the partners,

1.12:8:5
2.12:8:6
3.12:7:6
4.12:3:7

(Option 1[33317]) 1
(Option 2 [33318]) 2
(Option 3 [33319]) 3
(Option 4 [33320]) 4




X 3R v T SR EI H 32 2 3T RRER 1 3 2 % Te T AR & w0 H A B ¢ forwer @ 7 175 g
WIERI & a1 H RREGR] & 7T U1 B 0 B |

1.12:8:5
2.12:8:6
3.12:7:6
4.12:3:7

(Option 1[33317]) 1
(Option 2 [33318]) 2
(Option 3 [33319]) 3
(Option 4 [33320]) 4
Answer Given by Candidate : Not Answered

SI. No.6.
QBID:328006
Atthe break-even point, contribution s equal to

1. Variable cost
2. Profit

3. Fixed cost
4.Sales

(Option 1 [33321]) 1
(Option 2 [33322]) 2
(Option 3 [33323]) 3
(Option 4 [33324]) 4

o - fawde faig W SieH Fofiea 8 fous s dare 2

1. afadf @
2@
3. RR @
4. Tt

(Option 1[33321]) 1
(Option 2 [33322)) 2
(Option 3 [33323]) 3
(Option 4 [33324]) 4
Answer Given by Candidate : 3

Sl No.7
QBID:328007

Which one of the following is NOT true?

1. Capital expenditure results in extra capacity
2. Capital expenditure results in a benefit which willlast for a long time

3. Capital expenditure results in the acquistion of a permanent asset

4. Heavy expenditure on advertisement campaigns in order to introduce a new product in the market

(Option 1[33325]) 1
(Option 2 [33326]) 2
(Option 3 [33327]) 3
(Option 4 [33328]) 4

Fafifed # S P W @ T R 7
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(Option 1[33325]) 1
(Option 2 [33326]) 2
(Option 3 [33327]) 3
(Option 4 [33328]) 4
Answer Given by Candidate : 3

Sl N0
QBID:328008

As per the information given below, what is the correct material yield variance ?

Standard input = 100 kg

Standard yield = 90 kg

Standard cost per kg of output = Rs.20

Actual input = 200 kg

Actual yield = 182 kg

Actual cost per kg of output = Rs.19

1. Rs 40 (Favourable)
2.Rs 400 (Favourable)
3.Rs 400 (Unfavourable)
4.Rs 38 (Favourable)

(Option 1 [33320]) 1
(Option 2 [33330]) 2
(Option 3 [33331]) 3
(Option 4 [33332]) 4

i3 i g § e I S () feaT @ e

S ST = 100 B 71

TS IATE W = 90 b a1

TG B U e e TG = 20 T
IReAaD 3T = 200 b A

A Wi = 182 f A

I B o araae AT = 19 ¥

1. Rs 40 (31327
2. Rs 400 (3I%7)
3. Rs 400 (IREq)
4. Rs 38 (3IRT)

(Option 1[33320]) 1
(Option 2 [33330]) 2
(Option 3[33331]) 3
(Option 4 [33332]) 4
Answer Given by Candidate : Not Answered

Sl No.9
QBID:328009

When the negative income effect overwhelms the positive substitution effect so much that the demand curve is positively
sloped, the commodity in consumption is described as;

1. Normal good
2. Inferior good
3. Giffen good

4. Luxury good

(Option 1[33333]) 1
(Option 2 [33334]) 2
(Option 3 [33335]) 3
(Option 4 [33336]) 4

W FORIHD T YHTE, FHRIHGD HIeRYTIT TTd TR 51 418 U3 § s A1 ol FoRieTs &0 4 FW @1 3R S §
A Iiie g P o g afdfel s o @ 2
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2. e ay
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(Option 1[33333]) 1
(Option 2 [33334]) 2
(Option 3 [33335]) 3
(Option 4 [33336]) 4
Answer Given by Candidate : 2.

QBID:328010



In the extreme case of perfect price discrimination, the entire consumer surplus in the market goes:

1. to consumers.

2.to monopoly producer
3. as deadweight loss
4.to capital

(Option 1[33337]) 1
(Option 2 [33338]) 2
(Option 3 [33339]) 3
(Option 4 [33340]) 4

ol e e & g A 3 araR § S Suie sieve Reffed 3 8 el ua dar g

(Option 1[33337]) 1
(Option 2 [33338]) 2
(Option 3 [33339]) 3
(Option 4 [33340]) 4

Answer Given by Candidate : 2

Sl No.11
QBID:328011

Asituation, in which economic actors interacting with one another, each choose their best strategy, given the strategies that
all the other actors have chosen, is called

1. Nash equilibrium

2. Prisoners’ dilemma
3. Dominant strategy
4. Predatory strategy

(Option 1[33345]) 1
(Option 2 [33346]) 2
(Option 3 [33347]) 3
(Option 4 [33348]) 4

T U R, o o ool ureafe v gt s Soredl ot Rl & See & SRia oo Sdag TR o
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(Option 1 [33345]) 1
(Option 2 [33346]) 2
(Option 3 [33347]) 3
(Option 4 [33348]) 4
Answer Given by Candidate : 1

QBID:328012

In the Cobb- Douglas production function, Q = AK®L® , where ‘2" and *b* are output elasticities of capital and labour,
respectively. Ifa + b > 1, the underlying return to scale will be

1. increasing
2. decreasing
3. constant
4. linear

(Option 1[33349]) 1
(Option 2 [33350]) 2
(Option 3 [33351]) 3
(Option 4 [33352]) 4
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1. TG gH
2. T gen
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(Option 1[33349]) 1
(Option 2 [33350]) 2
(Option 3 [33351]) 3
(Option 4 [33352]) 4
Answer Given by Candidate : 1
1. No.13
QBID:328013

Which one of the following institutions is not a part of the World Bank Group?

1 ional Bank for and Ds (18RD)
2. International Development Association (IDA)

3. Multilateral Investment Guarantee Agency (MIGA)

4.The Bank for International Settlements (BIS)

(Option 1[33353]) 1
(Option 2 [33354]) 2
(Option 3 [33355]) 3
(Option 4 [33356]) 4

Frafafed # § o9 @ gy 30 T A
1. 3R 85 BR Rewgae U Saaude (3 & AR 21)
2. TR SaaUAe TEIRkTRH (o € Y
3. AEIIeYa Saae A Tl (0 o ST )
4. 3% BR $exRHa Jeade (& o 78)

(Option 1[33353]) 1
(Option 2 [33354]) 2
(Option 3 [33355]) 3
(Option 4 [33356]) 4

Answer Given by Candidate : 4

QBID:328014

According to the traditional approach, what s the effect of increase in degree of leverage on the valuation of a firm?

1. Increases

2. Decreases

3. Remains unaffected

4. Increases first and then decreases

(Option 1[33357]) 1
(Option 2 [33358]) 2
(Option 3 [33359]) 3
(Option 4 [33360]) 4

RRFT ST & R, 5 B & Heiie W Sia Qe @1 590 & 9fg &1 a1 yaia g 82

1. 59 & €N 81

2. 59 @ S 81

3.7 TMIRE T B 81

4. 050 39 913 810 @ 3R R el ol 1

(Option 1[33357]) 1
(Option 2 [33358]) 2
(Option 3 [33359]) 3
(Option 4 [33360]) 4
Answer Given by Candidate : 4

1. No.15
QBID:328015



An economic enterprise requires 90,000 units of certain item annually. The cost per unit is Rs 3. The cost per purchase order
is Rs 300 and the inventory carrying cost is Rs 6 per unit per year. What is EOQ?

1..3000 units
2.1500 units
3.6000 units
4.4500 units

(Option 1[33361]) 1
(Option 2 [33362]) 2
(Option 3 [33363]) 3
(Option 4 [33364]) 4

T i I @I HE BT G F 90,000 THEI BT HaRTHA SR §1 W T A 3 TUA 1 W SEw @ A
300 ¥UT & SR e § 7@ B AR 6 30 U g v oY 81 e sne A € ot ) foa 82

1.3000 e
2.1500 gfFe
3.6000 e
4.4500 gfFe

(Option 1[33361]) 1
(Option 2 [33362]) 2
(Option 3 [33363]) 3
(Option 4 [33364]) 4
Answer Given by Candidate : 3
SI. No.16.

QBID:328016

Dell Ltd. has Rs 100 preference shares redeemable at a premium of 10% with 15 years maturity. The coupon rate is 12%;
the flotation cost is 5% and the sale price is Rs 95. Calculate the cost of preference shares and select the correct option.

1.12%
2.1267%
3.13%
4.1333%

(Option 1[33365]) 1
(Option 2 [33366]) 2
(Option 3 [33367]) 3
(Option 4 [33368]) 4

3 1. U 100 0 & AR R § ot 15 anifa aRumar & |1 10 9 e W HieA R o Sed 31 gu e 12
% & SR ForTT AT 5 % 31 faa T 05 T & 1S4 SR 3 AT @ o 1Ty SR W e g

112%
2.1267%
3.13%

4.1333%

(Option 1 [33365]) 1
(Option 2 [33366]) 2
(Option 3 [33367]) 3
(Option 4 [33368]) 4
Answer Given by Candidate : Not Answered

QBID:328017
Which of the following is not a characteristic of normal distribution?

1. The mean of the normal distribution may be negative or positive
2. For any normal random variable x, P(x < ) =P(x = p) = 0.50
ibution is bell-shaped and symmetric

3. For every pair of values u and o, the curve of the dist
4. The kurtosis of the distribution is always less than 3

(Option 1 [33369]) 1
(Option 2 [33370]) 2
(Option 3 [33371]) 3
(Option 4 [33372]) 4

Frafifed # & - S de 3t v T 8

1. IRV §e PI HIe FORIAD T FHRIAD 8 G 81
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(Option 1 [33369]) 1
(Option 2 [33370]) 2
(Option 3 [33371]) 3
(Option 4 [33372]) 4
Answer Given by Candidate : 2

SI. No.18.
QBID:328018

the mean value is

For 2 Poisson distrbution p(y) = &2
2!

1.2

25

3.10

4.25

(Option 1[33373]) 1
(Option 2 [33374]) 2
(Option 3 [33375]) 3
(Option 4 [33376]) 4

AT B EE p(y) % SRy A A S :

1.2
2.5

3.10
4.25

(Option 1[33373]) 1
(Option 2 [33374]) 2
(Option 3 [333751) 3
(Option 4 [33376]) 4
Answer Given by Candidate : 2

1. No.19
QBID:328019
Which of the following is used to assess the relationship between two ordinal variables ?

1. Spearman's tho
2.Phi

3. Cramer's V

4. Chi-square

(Option 1[33377]) 1
(Option 2 [33378]) 2
(Option 3 [33379]) 3
(Option 4 [33380]) 4

S T & A e 1 R o @ o Fefed 3 F e wr e g 7

1. WaRET BT 3R T 3t (tho)
2.1 T 311 (Phi)
aERBE ()

4, TS WRR (Chi - square)

(Option 1[33377]) 1
(Option 2 [33378]) 2
(Option 3 [33379]) 3
(Option 4 [33380]) 4
Answer Given by Candidate : 1

1. No.20
QBID:328020



A "Spurious" relationship between two variables is expressed as

1. An apparent relationship that is so curious that it demands further attention.
2. A relationship that appears to be true because each variable is related to a third one.
3. One that is so ridiculously illogical that it cannot be possibly true.

4.One that produces a perfect negative correlation on a scatter diagram.

(Option 1[33381]) 1
(Option 2 [33382]) 2
(Option 3 [33383]) 3
(Option 4 [33384]) 4

AR i 5 e Heiy B FEER 2w e e
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(Option 1[33381]) 1
(Option 2 [33382]) 2
(Option 3 [33383]) 3
(Option 4 [33384]) 4

Answer Given by Candidate : 4

1. No.21
QBID:328021

Which one of the following motives characterizes dominant organizational climate of clubs?

1. Extensior
2. Affiliation
3. Dependency
4. Achievement

(Option 1(33385]) 1
(Option 2 [33386]) 2
(Option 3 (33387]) 3
(Option 4 [33388]) 4

e JRiRe & S B 1 00 w6 & THE SUeIEd URa 3 [aRudT aar 8 7

1. fawRo
2. 98T
3. ffkar
4. Jue e

(Option 1[33385]) 1
(Option 2 [33386]) 2
(Option 3 [33387]) 3
(Option 4 [33388]) 4
Answer Given by Candidate : 1

QBID:328022
Which one of the following is the description of Ego Regression Mechanism?

1. Returning to a previous stage of psyche development
2. Avoiding unacceptable emotions by focusing on the intellectual aspects
3. Taking out impulses on a less threatening target

4.pulling into the unconscious situation

(Option 1[33389]) 1
(Option 2 [33390]) 2
(Option 3 [33391]) 3
(Option 4 [33392]) 4

Fraffd # ¥ S 91 T 36H (Ego) U TUTCH S0 & 7

1. FIa@TE P gaiaw] O Ao 31 S|
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3. 37 Siifes agdl R & Sl 1 R Bl

4. 3 TR B AR A A

(Option 1[33389]) 1
(Option 2 [33390]) 2
(Option 3 [33391]) 3
(Option 4 [33392]) 4
Answer Given by Candidate : 2.

1. No.23
QBID:328023

Which one of the following is not an advantage of organization structure by product in a manufacturing company?

1. Places attention and effort on product line
2. Requires less persons with general managerial abilities
3. Improves coordination of functional activities

4. Permits growth and diversity of products

(Option 1[33393]) 1
(Option 2 [33394]) 2
(Option 3 [33395]) 3
(Option 4 [33396]) 4

Frafafed # § o1 @1 ve Rl s § S & 7 8 We S & 9 T8 82

1. &1 3R T B 3G Tl R @ 81

2. TR I A ard o St o aRaaal g 81
3. PRI TR & 99 § QUR g 81

4. J@c! & fawra AR fafdya & agmar ar g1

(Option 1[33393]) 1
(Option 2 [33394]) 2
(Option 3 [33395]) 3
(Option 4 [33396]) 4
Answer Given by Candidate : 2

. No.24
QBID:328024
Which one of the following s not an assumption under the McGregor's Theory Y2

1. The degree of commitment to objectives is in proportion to the size of the rewards associated with their achievement.

2. Under the conditions of modern industrial lfe, the intellectual potentialities of the average human being are only
partially utilized.

3. External control and the threat of punishment are the only means for producing effort towards organizational
objectives.

4. Average human beings learn, under proper conditions, not only to accept responsibility but also to seek it

(Option 1[33397]) 1
(Option 2 [33398]) 2
(Option 3 [33399]) 3
(Option 4 [33400]) 4

Frafafed # o9 @ 1o 4% TR & Rigld a8 & sl @R 7 &2

1. Juaier Y Waia Hwal & ISR & U § SE¥01 2q Hiaed @1 A g 81
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4. Fefq Rl & siaia oired 71a 71 Sad [RIEIRd] ) WoR Sl § afcw 349 real 4 81

(Option 1[33397]) 1
(Option 2 [33398]) 2
(Option 3 [33399]) 3
(Option 4 [33400]) 4

Answer Given by Candidate : 2

SI. No.25
QBID:328025
The minimum capital requirement for a life insurance company in India is :

1. Rs 300 crores
2.Rs 200 crores
3.Rs 500 crores
4.Rs 100 crores

(Option 1 [33401]) 1
(Option 2 [33402]) 2



(Option 3 [33403]) 3
(Option 4 [33404]) 4

WA g A1 B B el <eTa G5 @1 saamal 87

1.300 TG T
2,200 HAS T
3.500 FIG T
4.100 BRI T

(Option 1[33401]) 1
(Option 2 [33402]) 2
(Option 3 [33403]) 3
(Option 4 [33404]) 4
Answer Given by Candidate : 4

QBID:328026

Universal banks that function as investment banks in India are regulated by :

1. 5€81
2.RBI

3. Ministry of Finance
4.IRDA

(Option 1 [33405]) 1
(Option 2 [33406]) 2
(Option 3 [33407]) 3
(Option 4 [33408]) 4

HRa H 339 §% & w0 H o o3 a G 31 @1 e gri e e g 2

Ecid
2. 3RS
3. far T
4.1

(Option 1[33405]) 1
(Option 2 [33406]) 2
(Option 3 [33407]) 3
(Option 4 [33408]) 4

Answer Given by Candidate : 1

Sl No.27.
QBID:328027
When the RBI desires to restrict expansion of credit, it :

1. increases the bank rate
2. decreases the bank rate
3. decreases the CRR for banks
4. decreases the SLR for banks

(Option 1[33409]) 1
(Option 2 [33410]) 2
(Option 3 [33411]) 3
(Option 4 [33412]) 4

W R & 311 H01 T FaRAR GRET A el € 1 T ¢

1. ¥TRAGE DRATRI

2. 8@ IR

3. 3! & o Wt o R H B FRAT B
4. 31 & 7Y 70 U 3R B Bl 81

(Option 1[33409]) 1
(Option 2 [33410]) 2
(Option 3 [33411]) 3
(Option 4 [33412]) 4
Answer Given by Candidate : 1

1. No.28.
QBID:328028
Which of the following refers to default-risk intermediation?

1. Borrowing short-term funds from savers and making long-term loans to borrowers
2. Making loans to risky borrowers by attracting savings from the savers who are risk-averse
3. Using information gathering skills of the intermediary

4. Pooling small amounts of savings from individuals to give loans to others

(Option 1[33413]) 1
(Option 2 [33414]) 2
(Option 3 [33415]) 3
(Option 4 [334161) 4

Frafed 3§ BF I 9o - ST T o Yaiid o 87
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2. FaAGAIH § T ABT DY, SGH SUR Wl 1 Hv1 &1, S i - @ 31
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(Option 1[33413]) 1
(Option 2 [33414]) 2
(Option 3 [334151) 3
(Option 4 [33416]) 4
Answer Given by Candidate : 4

1. No.29
QBID:328029

The knowledge and courtesy of employees and their ability to convey trust and confidence indicates which of the
following?

1. Responsiveness
2. Assurance
3. Empathy
4.Reliability

(Option 1[33417]) 1
(Option 2 [33418]) 2
(Option 3 [33419]) 3
(Option 4 [33420]) 4

B! B T SR T T 238 IR A H1 e B3 @1 A, Fafifed g Hia @1 ok ¥od ol 82

1. Sgfeparficran
2. 314

3. FEP
4. fasgeftaat

(Option 1[33417]) 1
(Option 2 [33418]) 2
(Option 3 [33419]) 3
(Option 4 [33420]) 4
Answer Given by Candidate : 4

QBID:328030

Which of the following is not true about rural markets?

1. Growth opportunities in rural markets are driving companies to them.
2. Information and communication technology are the drivers of change in rural markets.

3. Socioeconomic changes are yet to happen to rural markets,

4. Rural consumers shop for grocery, apparels, consumer durables of agri-inputs in nearby urban shops.

(option 1 [33421]) 1
(Option 2 [33422]) 2
(option 3 [33423]) 3
(Option 4 [334241) 4
Frffed & o @ I aeR 5 e F e TR 2
1. T SR T 3 SR Bufdl o) o @ sl e <E 21
2. T R TR Wit ardor SRt & seare & g eRard 81

3. At -oififen aaaa ot seftor ARt A € A 71
4, IO UG R, S, RS Iuiiad awqy AR B STl 31 Siiaar] TS & Ted goHl § s

(Option 1[33421]) 1



(Option 2 [33422]) 2

(Option 3 [33423]) 3

(Option 4 [33424]) 4

Answer Given by Candidate : 4

SI. No.31

QBID:328031

“Manufacturers of razors and cameras often price these products low and set high mark ups on razor blades and films."

As per the above statement, manufacturers of razors and cameras are using which one of the following ?

1. Captive-product pricing
2. Two-part pricing

3. Product-bundling pricing
4. By-product pricing

(Option 1 [33425]) 1
(Option 2 [33426]) 2
(Option 3 [33427]) 3
(Option 4 [33428]) 4

* 3o SR SR & T 37 IaGl & e 31 PH 6 § S TR S8 R iR W e JHfiw T 8

TG T B IR oK IR ST S Fafar o H S e swm A mw gy

1. 9Y3 - IATE e BT

2.f - wmHRA S

3. MG - FEPR® (§sferm) Head ot
4, JUITE G BT

(Option 1 [334251) 1
(Option 2 [33426]) 2
(Option 3 [33427]) 3
(Option 4 [33428)) 4
Answer Given by Candidate : 4

1. No.32
QBID:328032

A vertical marketing system (VMS) combining successive stages of production and distribution under single ownership, is
known as:

1. Corporate VMS
2. Administered VMS
3. Contractual VMS
4. Conventional VMS

(Option 1[33429]) 1
(Option 2 [33430]) 2
(Option 3 [33431]) 3
(Option 4 [33432]) 4

THA WIHE B fid IaTe R TR 31 i a1 and i@ SR fFuom yomd @ o o) e w0 H s
S g ?

ERCLCEEIn ]

2. R TH T

3. faarere 4l T T
4. TS d T

(Option 1 [33429]) 1

(Option 2 [33430]) 2

(Option 3 [33431]) 3

(Option 4 [33432]) 4

Answer Given by Candidate : 2

SI. No.33

QBID:328033

The act of throwing on board cargo and other things from the ship to safeguard it from total loss in times of peril is called

1. Jettisoning

2. Moral hazards

3. Consequential peril
4. Reverse indemnity

(Option 1[33433]) 1
(Option 2 [33434]) 2
(Option 3 [33435]) 3
(Option 4 [33436]) 4

310 T A w1 @ QReNUE 3 e W A A @7 AR 3 G0 Al Bl b 33 1 51 el 81

1. e

2. 3@ dwe
3. aRuTH 3aET
4. fdard effergfel

(Option 1[33433]) 1
(Option 2 [33434]) 2
(Option 3 [33435]) 3
(Option 4 [33436]) 4

Answer Given by Candidate : 3

Sl No.34.
QBID:328034

The right to ‘stoppage in transit' exercised by an unpaid seller is to

1. recover price

2. retain possession
3. regain possession
4. recover damages

(Option 1[33437)) 1
(Option 2 [33438]) 2
(Option 3 [33439]) 3
(Option 4 [33440]) 4

el sre (3MU) fashel GRT ORI # SRy B o @R g fore e &2

1. BT T A

2. it Qe[ T

3. W@ B T WG FA
4, THTH B Y B

(Option 1[33437]) 1
(Option 2 [33438]) 2
(Option 3 [33439]) 3
(Option 4 [33440]) 4
Answer Given by Candidate : 2

1. No.35
QBID:328035

Which one among the following is the duty of the Central Assistant Public Information Officer or a State Assistant Public
Information Officer?

1. To receive the applications for information or appeals under the RTI Act for forwarding the same forthwith to the
CPIO/SPIO

2.To receive the fee for the RTI applications

3.To assist the CPIO/SPIO in furnishing the reply to the applicant

4.To ensure that T applications are replied within the prescribed period

(Option 1 [33441]) 1
(Option 2 [33442]) 2
(Option 3 [33443]) 3
(Option 4 [33444]) 4

Frffad & 9 S H3 Terme 9F YE1 ARG SUal I TeH® 7 G ARG T S 87

1. 3R & g il & Sicrfa ae sryar st & R SideH! B TG SR T4 S HE o I St st e
S G SR BT 8 Bl

2. 3R & 31§ SMaE S e Yo U@ BT

3. HEE B S Wo § W O o 3l T o1 ot 1 Ferar yaH Al

4.7 GRIA A 5 oiR & oS S1aeT & I ey T ofafl 3 iR g o

(Option 1 [33441]) 1
(Option 2 [33442]) 2
(Option 3 [33443]) 3



(Option 4 [33444]) 4
Answer Given by Candidate : 1

SI. No.36.
QBID:328036

The relationship between a bank and its customers is basically that of

1. Debtor and Creditor

2. Trustee and Beneficiary
3. Principal and Agent

4. Drawer and Payee

(Option 1[33445]) 1
(Option 2 [33446]) 2
(Option 3 [33447]) 3
(Option 4 [33448]) 4

¥ IR 35D JuiaIST B §td P Ydy TEI Y JOR B3 2

(Option 1 [33445]) 1
(Option 2 [33446]) 2
(Option 3 [33447]) 3
(Option 4 [33448]) 4

Answer Given by Candidate : 2

1. No.37.
QBID:328037

Provisions of the Vivad se Vishwas Act, 2020 does not apply in respect of tax arrears relating to which one of the following ?

1. an assessment year in respect of which prosecution has been instituted on or before the date of fiing of declaration
2. any income from agricultural land in India

3. Section 10(3) dealing with tax deductions

4. assessments under Section 80 Gl of the Act

(Option 1[33449]) 1
(Option 2 [33450]) 2
(Option 3 [33451]) 3
(Option 4 [33452]) 4

foare & faarg s 2020 & IJuay PR A oY oM@ 3R & Yy AT 2

1. 39 e oY & wdy H e g drwon 3t R & e 9wd gd sifien I gl
2. BT 31 g Uy YRa & pY-drg yfm &

3. TR B B § GafId 4RT 10(3) S YU |

4. SffETTEH B 4R 80 S 31 B Sfeiel FeRor & Teies 71

(Option 1 [33449]) 1
(Option 2 [33450]) 2
(Option 3 [33451]) 3
(Option 4 [33452]) 4
Answer Given by Candidate : 2

QBID:328038

Under Section 80TTB of the Income Tax Act, which amount of benefits is available to senior citizens on account of interest
income from deposits with banks or post-office or cooperative banks?

1.Rs 50,000
2.Rs. 1,00,000
3.Rs. 75,000
4.Rs. 1,50,000

(Option 1 [33453])
(Option 2 [33454])
(Option 3 [33455])
(Option 4 [33456])

N

SR SHUFTH B 4RT 80 A AR & sfa, aRE TR B I, SHR el TeDR] Seb & S7] SIS TR TSl 1 T
o e R 7 ST € 2

1.350,000
2.%1,00,000
3.375,000
4.%1,50,000

(Option 1[33453]) 1
(Option 2 [33454]) 2
(Option 3 [33455]) 3
(Option 4 [33456]) 4
Answer Given by Candidate : 1

1. No.39
QBID:328039

Provisional Input Tax Credit can be utilised against

1. Any tax liability
2. Self-assessed tax liability

3. Differential income tax gains
4. Fine

(Option 1[33457]) 1
(Option 2 [33458]) 2
(Option 3 [33459]) 3
(Option 4 [33460]) 4

iR FRm @ ive (e $7ge 2 $15e) fbw g vgw e & 2

1. fo st yaR 9t R Sar gq!
2.9 3o i o daar 3!
3. e oM AR A &1
4. ARG

(Option 1[33457]) 1
(Option 2 [33458]) 2
(Option 3 [33459]) 3
(Option 4 [33460]) 4
Answer Given by Candidate : 2

SI. No.40.
QBID:328040

Penalty for late filing of the Income Tax Return for individuals under the Income Tax Act, 1961 is up to a maximum of
amount of :

1.Rs 10,000

2.Rs 25,00000

3.10% of Gross Total Income
4.2% of Tax liability

(Option 1 [33461]) 1
(Option 2 [33462]) 2
(Option 3 [33463]) 3
(Option 4 [33464]) 4

el e TR SR AT 1961 F S AR e 1 &l U 5 B RS BT iftwa W g

1.210,000
2.%25,00,000

3. T P ST BT 10%
4. TR AW DT 2%

(Option 1 [33461]) 1
(Option 2 [33462]) 2
(Option 3 [33463]) 3
(Option 4 [33464]) 4
Answer Given by Candidate : 3

1. No.a1
QBID:328041



Revenue expenditure of the Central government includes
A. Debt relief to farmers

8. Subsidy for fertilizers

C. Grants to states

D. Central plan allocations for rural development

. Central plan allocation for irrigation and flood control
Choose the correct answer from the options given below:

1.A Band Eonly
2.A,Cand D only
3.C,Dand Eonly
4.A,Band Conly

(Option 1[33465]) 1
(Option 2 [33466]) 2
(Option 3 [33467]) 3
(Option 4 [33468]) 4

% TR B Yo o7 A FEfifed # 9 -5 A § 2
A Tl o1 50 & Ted

8. IR R I FgTgal

. X BT e

. 71U fGwre  fErg Hiia dIoiefl | et

. R R g foron & R e i weraan

M9 feg Y fased! A & ) SR & 95 P :

1.5aqA,B IR E
2.%ad A CRD
3.%aqc, DARE
4.%aA BARC

(Option 1 [33465]) 1
(Option 2 [33466]) 2
(Option 3 [33467]) 3
(Option 4 [33468]) 4
Answer Given by Candidate : 4
SI. No.42
QBID:328042
Exchange depreciation rate of one currency in relation to another currency is, approximately, equal to their
A. Inflation rate differential
8. Interest rate differential
C. Growth rate differential
. Fiscal deficit differential
. Forex reserve differential
Choose the correct answer from the options given below:

1.A, Band Conly
2.C,Dand Eonly
3.Aand B only
4.Dand E only

(Option 1 [33469]) 1
(Option 2 [33470]) 2

(Option 3 [33471]) 3

(Option 4 [33472]) 4

el 31 1 ol A & e H e T e o egree: Fefefen S 8w - feu s e e e
A TP R e

8. 3 R faie

c. o i3 ax g

D. IS et g

£. et e ieR fade

T Ry e d I T IR

1.%aA, B AR C
2.%adC, D ARE
3.padA MR B
4.5a00 IRE

(Option 1 [33469]) 1
(Option 2[33470]) 2
(Option 3 [33471]) 3
(Option 4 [33472]) 4
Answer Given by Candidate : 4
S No.a3

QBID:328043
Which of the following activities are included under investing activities in the Cash Flow Statement?
A. Cash receipts from disposal of fixed assets (including intangible)
8. Cash advances and loans made to third parties (other than advances and loans made by a financial enterprise)

C. Cash receipts from repayment of advances and loans made to third parties (other than advances and loans of a financial
enterprise)

D. Cash repayments of amount borrowed
€. Cash payments to suppliers for goods and services
Choose the correct answer from the options given below:

1.A Band Conly
2.¢,Dand Eonly
3.Cand D only

4.A,Cand D only

(Option 1[33473)) 1
(Option 2 [334741) 2

(Option 3 [33475)) 3

(Option 4 [33476]) 4

Frafafed # 4 &1 - B 3 Rearsar Fod vare el & siard faw framad 3 e g g 2
. P o (3R wfeq) & foem @ T@s mieat

8. J1g U4 1 R T8 T i @ B0 (fEefia SusH gR1 wed oo 9 B0 5)

. A uE F A T B0 B S § Foe wiwat (e SueE $ AW I BU TR

D. U 1 3ERFT & T Tde IaH

£ F10 @ Fareil & R ngfimataft 3 Tog e

2 fog e fawedl & w8 SR -

1.3awA, B AR C
2.%ad C, D ARE
3.%aq c IR D

4.%ad A C R D

(Option 1[33473]) 1
(Option 2 [33474]) 2
(Option 3 [334751) 3
(Option 4 [33476]) 4
Answer Given by Candidate : 1

SI. No.aa.
QBID:328044



Identify cost drivers used in Activity Based Costing from the following:
A Volume

B. Transaction

C. Intensity

D. Currency

€. Duration

Choose the correct answer from the options given below:

1.A Band Conly
2.C,Dand E only
3.A Cand D only
4.8,Cand E only

(Option 1 [33477]) 1

(Option 2 [33478]) 2

(Option 3 [33479]) 3

(Option 4 [33480]) 4

IRt sfa Ta Reior 3 g T i (g15aR) @ Faied § § vgE -
A ST @TegH)

8. T - &

C. e

0. 551

£ 3@fy

i feg e faedi H § w8 ST @1 9 B -

1.FawA, B AR C
2.%ad C, D ARE
3.3aqA, € IR D
4.%aw 8, CARE

(Option 1[33477]) 1
(Option 2 [33478]) 2
(Option 3 [33479]) 3
(Option 4 [33480]) 4

Answer Given by Candidate : 1

SI. No.as
QBID:328045

Increasing returns to scale arise because as the scale of operation increases it causes

A. more division of labour and specialisation

8. productive utilisation of machinery

C.lower procurement and logistic costs

D. more difficulties in managing firm effectively

£ more economies in advertising

Choose the correct answer from the options given below:

1.A, Band Conly
2.C,Dand Eonly
3.A,8,Cand D only
4.A.8 CandE only

(Option 1 [33481]) 1
(Option 2 [33482]) 2

(Option 3 [33483]) 3

(Option 4 [33484]) 4

TG B Tea Mt F agI gl & Fife o 1 e 31 R agdl 8, 39e-
A 37 H R iR Rt oiftes g &

8. T 1 3G A TeR I Bl 3

C. T SR HHR - 3 1 A B 3

D. BH & Tl e 7 SR 3 faad ol §

. R 7 o a9a 8 8

et ferg o fawedt § S v S G

1.%aA, B AR C
2. C, D ARE
3.%aw A, B, C IR D
4.5a0A, B, CHRE

(Option 1 [33481]) 1
(option 2 [33482]) 2
(Option 3 [33483]) 3
(Option 4 [334841) 4
Answer Given by Candidate : 3

1. No.46.
QBID:328046

Consumer rationality implies which of the following assumptions?
A. Non-satiety of needs

8. Transitivity of preferences

C. Cardinal measurement

. Selfish economic motive

E. Ordinal measurement

Choose the correct answer from the options given below:

1.Aand B only
2.Cand D only

3.A CandE only
4.A,Band D only

(Option 1 [33485]) 1
(Option 2 [33486]) 2
(Option 3 [33487]) 3
(Option 4 [33488]) 4

IuiaT G o YRS 1 AR I PR E -
A, TN Bt 3T
8. T @ e
C. IS AD
. wantigef anfife
E. PHAYE® HUG
2 Ry e faeedt  § W WA
1. BaaA MR B
2.¥adcdRD

3. %0 A, CARE
4.3adA, B HRD

(Option 1 [33485]) 1
(Option 2 [33486]) 2
(Option 3 [33487]) 3
(Option 4 [33488]) 4
Answer Given by Candidate : 3

1. No.47.
QBID:328047



Which of the following relationships raise presumptions of undue influence?
A. Parent and child

B. Doctor and patient

C. Husband and wife

D. Fiance and fiancee

€. Creditor and debtor

Choose the correct answer from the options given below:

1.A Band Conly
2.A,Band D only
3.A Band Eonly
4.8,Cand D only

(Option 1 [33489]) 1

(Option 2 [33490]) 2

(Option 3 [33491]) 3

(Option 4 [33492]) 4

e e ey gRT oRfad qaTa @ YRuTG SaE g 8
A T - oI R wr=n

8. STaR 3R He

. ufy AR ufe

D. e 3R arga
VT AR Bl

fr feg e fwedl & 9 981 S :

1.FawA, B AR C
2.%at A B3R D
3.5aqA, B ARE
4.%ats, C3RD

(Option 1 [33489]) 1

(Option 2 [33490]) 2

(Option 3 [33491]) 3

(Option 4 [33492]) 4

Answer Given by Candidate : 3

SI. No.4s.

QBID:328048

The Internal Rate of Return (IRR) method offer which of the following advantages?
A. It recognises the time value of money
8. Itis consistent with the shareholders’ profit-maximization objective also
C. It considers all cash flows occurring over the entire life of the project
D. It generally gives the same acceptance rule as the NPV method
E. It considers all positive NPV over the entire life of the project

Choose the correct answer from the options given below:

1.A, Band Conly
2.8,Cand E only
3.A,8,Cand D only
4.A D and E only

(Option 1 [33493]) 1
(Option 2 [33494]) 2

(Option 3 [33495]) 3

(Option 4 [33496]) 4

TRIET BT RS o (3 IR R) iy FaRa d IeH Ia A a8 :

AT 51 & T e B A Bl 81

8. 78 STRURH! & T F AR & 3530 § fl G 81
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D. TR $59 Wiomdl Fon a8 8 S e i A R @)

€. 75 TR 3 W oAl & GRM et eTeTs e adee e (NPY) T RER SR 1
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1.%awA, B AR C
2.Fade, CIRE
3.%aw A, B, C IR D
4530 A, DARE

(Option 1 [33493]) 1
(Option 2 [334941) 2
(Option 3 [33495]) 3
(Option 4 [33496]) 4
Answer Given by Candidate : 3

SI. No.49
QBID:328049

Which of the following are the off-balance sheet source(s) of finance?
A. Securitisation

8. Factoring

C. Forfaiting

D. Operational lease

E. Credit rating

Choose the correct answer from the options given below:

1.Aand Eonly
2.8,Cand E only
3.A Band Conly
4.A, 8 Cand D only

(Option 1 [33497]) 1

(Option 2 [33498]) 2

(Option 3 [33499]) 3

(Option 4 [33500]) 4

PR oM - P AR S g T A TR A ?
A Tl

8. TER] ol - B

. BRbfRA

. TrETe Tt

€. Tra il

2 Ry e § W SR

1. A A ARE

2. Fade, CARE
3.%aa A, B AR C
4.%adA,8,CHRD

(Option 1[33497]) 1
(Option 2 [33498]) 2
(Option 3 [33499]) 3
(Option 4 [33500]) 4
Answer Given by Candidate : 1

QBID:328050



Which of the following factors influence portfolio beta?
A. Portfolio size

B. Investment longevity

C. Trading volume

D. Return interval (weekly vs. monthiy)

. Portfolio leverage

Choose the correct answer from the options given below:

1.A Band Conly
2.8,Cand D only
3.Dand E only
4.A, B, Cand D only

(Option 1 [33501]) 1

(Option 2 [33502]) 2

(Option 3 [33503]) 3

(Option 4 [33504]) 4

Frafdifed # 4 o1 9 oRe UEHI el &1 7HIfdd $3d § 2
A UEHIRTT HTHR

8. 73 &t sl

C. SUR HET

D. TR SRS (@TEe ST A1fei)
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R e g faed 718 9 IR

1.FawA, B AR C
2. %at s, C 3R D
3. FaqD AR E
4.%a A, B,CHRD

(Option 1 [33501]) 1
(Option 2 [33502]) 2

(Option 3 [33503]) 3

(Option 4 [33504]) 4
Answer Given by Candidate : 1
SI. No.51
QBID:328051

A contract of life insurance is a/an

A. Indemnity

8. Wagering agreement

C. Contingent agreement

D. Assurance

E Guarantee

Choose the correct answer from the options given below:

1.A, Cand E only
2.Aand D only
3.8,Cand Eonly
4.Cand D only

(Option 1 [33505]) 1
(Option 2 [33506]) 2

(Option 3 [33507]) 3

(Option 4 [33508]) 4

e o sy FE A e - @ne e
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1.FaAA, CARE
2.5a A MRD
3.%ad8, CARE
4.5a0 C R D

(Option 1 [33505]) 1
(Option 2 [33506]) 2
(Option 3 [33507]) 3
(Option 4 [33508]) 4
Answer Given by Candidate : 1

QBID:328052

Which of the following statements are rightly expressed in relation to statistical testing?

A When the expected frequencies are too small, the value of 2 will be overestimated and will result in too many rejections

of the null-hypothesis
8. Mann-Whitney test assumes that population is normal
C. Kruskal-Wallis test is similar to one-way analysis of variance

D. The homogeneity of variance means that the test is concerned with the hypothesis that the identical means came from
the same population

E. Student's t-Distribution is by definition normal
Choose the correct answer from the options given below:

1.A Band D only
2.8,Cand D only
3.A CandE only
4.Cand D only

(Option 1 [33509]) 1
(Option 2 [33510]) 2
(Option 3 [33511]) 3
(Option 4 [33512]) 4

Fafefn § & 9§ a ST when & s A w2 2

A 5T SUfET SRERATY Sd T N Tl 52 BT HH ) Mawerd g1 e o hearaey I IRGHI 31 S7PHS TR
@it fan s

8. 777 -fege Te 1 ST @ o SREn W §

C. PuD - TE T T B T- AN et Faweiwu & 9 ¢

. faaier 1 Tyl 1 78 ST & 5 Tern o1 Sl 5 R § § b S i Uw 1 e 3 s ¥
€. BT 1 - g TR O W A &

fr forg U faded 4 W SR G :

1.%aw A, B HRD
2. %aq e, CfRD
3.%adA, CARE
4.%aq C R D

(Option 1 [33509]) 1
(Option 2 [33510]) 2
(Option 3 [33511]) 3
(Option 4 [33512]) 4

Answer Given by Candidate : 4

1. No.53
QBID:328053



